é a W ’ @ phép trir phan s6 (cting mau sd)

Tén: Ngay thang: Piém:
> 1. 7_1_
77 8 8
> 1. 3_1_
77 77
>3 5_1_
9 9 77

1 3 2
8 8 4 4
7 2 5 1
5 5 6 6
T3 7_1_
9 9 8 8
T3 z2_1_
8 8 5 5
13 43
4 4 5 5
2 1. 5_2_
3 3 4 4
72 _ 7_1_
9 9 8 8
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k % W ’ @ phép trir phan s6 (cting mau sd)

Tén: Ngay thang: Piém:
5_1_4 713
A 8 8 4
5 1 4 301 2
Y Y
5 3 2 5 1 4
9 9 9 7 7 7
4 1 3 3 2 1
8§ 8 8 4 4 4
724 > 1.2
5 5 6 6 3
7.5 2 713
9 9 9 8 8 4
751 2 11
8 8 4 5 5 5
RN 431
4 4 2 5 5 5
2 11 523
3 3 3 4 4 4
725 713
9 9 9 8 8 4
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